Bollard R-7744

1/2
41
@11 5/8
@12 5/8
|
Installation Sample
with 5/16" Chain Accessories
= o Bollard Chain Eye 3/8" Quick Link Connector 5/16" Bollard Chain 5/16"
— 5 =\ < (Powder Coated) (Powder Coated) (Powder Coated)

Optional Accessories:

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
1-877-789-3245 info@reliance-foundry.com

O Chain Eye www.reliance-foundry.com
O Quick link TITLE
O Chain (5/16")
See Reliance Foundry's optional accessories at:
www.reliance-foundry.com/bollard/accessories-bollards BOI Ia rd R- 7744
SIZE DWG NO REV
C R7744 c4
COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 1 OF 9

4 I 3 4& 2

1




Bollard R-7744

2
l I
1
44 1/2 43
Max. Bar Height
@12 5/8
T ékifﬁ}ﬁf ﬁ;;«.gxwfﬁw\<§‘<§;\<§‘<§;j?i*”*7”” |
12" Min. Depth '{:{;.'.‘fj?;%:.j2;:. A CNL
Recon;r:nenedped \//\\ » e - » »\W\\\
N I NN
SN 1 U OOANUANDAN
«
NN T INIIIN
13" Min. Dia.
Recommended
Notes:

NSNS

New Concrete

Grade

. CE
.....A“p.!“.. o B e

N
N

[ SRR BT S

A
K

>
>
N\

A

T RTE S . B L

N s T P
> LA .. v LT

o
JK

AL Lo K
R g : . R
i > D R
LS R N R AR R

E Ly

7
N

/.L'.

N
KL

N

DU

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.

2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.

3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension
is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

5) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

4) Secure bollard base
with 1" washer and
1" nut.

1) Ensure top of anchor casting
is level and flush with finished
concrete grade.

2) Wait until concrete is cured.
3) Tighten threaded bar until it
reaches approx. 1to 1 1/2"
into the anchor casting.

Tools needed:

1) Measuring tape
2) 1 1/2" wrench
3) 3/16" hex key

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

®© Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Ppost Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 |bs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 R7500AN 1" R7500 Anchor Casting 1" Ductile Iron Hot Dip Galvanized |8 3/8 Ibs
4 1 |R7500BAR 1" R7500 Threaded Bar 1" x 44" Steel Plated 8 1/8 Ibs Bollard R-7744
5 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 |bs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 2 OF 9

4 |

3 S

2

1




Bollard R-7744

2\
e

AN -

44 1/2
43

|
|
|
|
|
|
|
|
|
|
|
|
|
|
Max. Bar Height I
|
|
|
|
|
|
|
|
|
|
|
|
|

: ’ /
31/8 A
| Ko

el Ly /

20

R .
’ S

/)
Notes:

'\// // // // : "D 'Db D “’ - /\//
P =‘*|ib R \\//\///\\\//\//\ R [ A ///
SO
K
N I

<
N /\\\/ X\\/\\\//>\// >

Existing Concrete

L et L
N e T
KKK

N
v >

s
v, g

»,

YOI

A

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

7) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

6) Secure bollard base
with 3/4" washer
and 3/4" nut.

1) Use hammer drill to make hole
1" dia. x 3 1/8" depth.

2) Clean drill hole of debris.

3) Insert drop-in anchor into hole
4) Use hammer and setting tool
to drive plug down.

5) Tighten threaded bar until it
reached approx. 1" into

the drop-in anchor.

Tools needed:

1) Measuring tape

2) 1 1/8" wrench

3) 3/16" hex key

4) Hammer drill

5) 1" Masonry drill bit

6) Hammer

7) Drop-in concrete insert setting tool

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
® Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 |bs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 Drop-in Concrete Insert 3/4" Drop-in Concrete Insert 3/4" - requires 1" x 3 1/8" hole (dia. x depth) Steel Plated 1/2 Ibs
4 1 |R7500BAR 3/4" R7500 Threaded Bar 3/4" x 44" Steel Plated 41/2 Ibs Bollard R-7744
5 1 Washer 3/4" OD 2" Washer 3/4" OD 2" Thick 1/8" Steel Plated 1/8 |bs
6 1 Hex Nut 3/4" Hex Nut 3/4" - requires 1 1/8" wrench Steel Plated 1/8 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 3 OF 9
4 I 3 2 I 1




Bollard R-7744

44 1/2

43
Max. Bar Height

@12 5/8

NN NN Y e e D NN

o .-
.- R B
.'b.AD..~.~' - -

s Y
S "

f—— N —

. s LR

: - R 5t oa

B "b AT
.'.A

X

N

SN T ke > Lo e /\

@1 1/8 AR \\\//\\
T SAS N tt:\

N

NI ISIIOIN
NN

/2

7,

N

Notes:

NINHVANN

/— Existing Concrete

Grade

. Ly b A
/ IR B A
R Y .
A .DA..', s LY
\,4 B T

b
»

ﬁ\/
O\

/

b s
S A b

X
¢
¥,

Ve
/\\ v \\2

2

N

s
s 13

NN\

/

-

S
oA
S S
b
LT
a
R

B
A

/ / Abb ~.:~>;.i>:': L4
\\\\\:A, Y LA .'.'.p..: . > oA
\/ . Ap: [> ..',.

N

/\\

. R [

. »
L SRR g

<

S SONN

7

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.

3) Dimensions provided herein is for reference only. Please consult
is critical to your particular installation.

Reliance Foundry sales professionals if any dimension

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

8) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

7) Secure bollard base
with 1" washer
and 1" nut.

1) Use hammer drill to make hole
1 1/8" dia. x 4" depth.

2) Clean drill hole of debris.

3) Caulk adhesive into hole from
bottom up and fill 1/4 full.

4) Push threaded bar into adhesive
and turn to ensure bonding.

5) Ensure bar is perpendicular and
extend no more than 43" above
grade.

6) Wait at least 45 minutes for
adhesive to set.

Tools needed:

1) Measuring tape

2) 1 1/2" wrench

3) 3/16" hex key

4) Hammer drill

5) 1 1/8" Masonry drill bit

6) Caulking gun and utility knife

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
® Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 |bs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 Adhesive Anchor AC100+ Gold Adhesive Anchoring System Vinylester Adhesive Mortar 5/8 Ibs
4 1 |R7500BAR 1" R7500 Threaded Bar 1" x 47" Steel Plated 8 3/4 Ibs Bollard R-7744
5 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 |bs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRZEERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 4 OF 9
4 I 3 2 I 1




BOl |a I‘C| R'7744 General Description:

5} Secure bollard cap The R-7744 Decorative Bollard offers a clean, simple design

with 3/8" set screws suitable for any location. Made from resilient carbon steel, its
ar_1d cover_ Set screws wide body suits larger pipe reinforcement (up to 10-3/4"
with plastic plugs diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
4) Secure bollard base
with 1" washer and ©® Polyester Powdercoated

1" nut. See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
® Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Post Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

44 1/2
43

Max. Bar Height

New Concrete

Concrete Form Care and Maintenance:

Grade
Reliance's line of bollards are finished with a long-lasting
T v EOER (B " e 3 R BT ' 1) Ensure top of anchor casting powder-coating. Proper care and maintenance are required.
a v “, . g ;. R . " » N R v is level and flush with finished Regularly-performed mspc_ectl(_)ns and rqutme cleaning will
‘ \\//;\QQ R | R S // RN I T //\ concrete grade. ensure that a bollard retains its aesthetic appeal and does not
e e T N A e T AL S 2) Wait until concrete is cured. become damaged by the elements.
\\//\/ Lot e e // S T e g ) /\ - s . , . . )
SO A B AT RN N \\/\ 3) Tighten threaded bar until 'I't See Rellz.ance Foundry's maintenance gylde at:
\\//\ > \>/\\>/ >/\\\/\>/ >/\\>/ \//\ /\\//\\/\\//\\//\\//\\//\\//\ //\ reaches approx. 1to 1 1/2 www.reliance-foundry.com/bollard/maintenance-bollards
Recommended <A A / ,\\\((\\/\/\\// G IR
= 14— Landscaping Material
13" Min. Dia.
Recommended
Notes: Tools needed:
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 1) Measuring tape
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 2) 1 1/2" wrench
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 3) 3/16" hex key
is critical to your particular installation. RELIANCE FOUNDRY
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. ______  SINCE1925 —
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 Ibs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 R7500AN 1" R7500 Anchor Casting 1" Ductile Iron Hot Dip Galvanized |8 3/8 Ibs
4 1 |R7500BAR 1" R7500 Threaded Bar 1" x 44" Steel Plated 8 1/8 Ibs Bollard R-7744
5 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 |bs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 5 OF 9

4 I 3 4& 2 | 1




Bollard R-7744

2 o=
0
"A . By A ‘;’p ' A" 1
44 1/2 15'“:.;*’. ; b
a3 h .> Max. interior post
Max. Bar Height x - e 10 3/4" x 40"
oo N ( dia. x height)
» N .' . Filled with concrete
A‘L RD‘ ’k -A~.}: .'T;A #12 5/8 New Concrete
b,, >| l',‘f'.‘.’ > Grade
Y2Vl LIS —— . . 1. e
\/\,:" " . bf’. >““»> ‘ » ’ *. &\\//\\\//\\\//\\\%A o :[>'  PA 33 A ’A’ ¢\\/<\
O A NNII 2020207 WA ekl
//\:;.”.:.A 5 ;;.: »i b { »” 'A\///\\///\\///\{/K o »"Au ;Z > 5 R At.” ‘./\\///
< \ : \A v.“\.. ¥ \‘, . .AD,.\ \ \ \ \\ . o . R N \AM,M Q
DX
N N N N N NN NN NN NN
OV NININ NN VIV VNI NIANANS,
Notes:

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

is critical to your particular installation.

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

5) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

4) Secure bollard base
with 1" washer and
1" nut.

1) Use 1 piece of 1" nut on bar
as anchor in wet concrete.
2) Ensure the bar is centered
and extend no more than
43" above grade.

3) Wait until concrete is cured.

Tools needed:

1) Measuring tape
2) 1 1/2" wrench
3) 3/16" hex key

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
© Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Ppost Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada

PARTS LIST 1-877-789-3245 info@reliance-foundry.com
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT www.reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 Ibs TITLE
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs
3 1 |R7500BAR 1" R7500 Threaded Bar 1" x 44" Steel Plated 8 1/8 Ibs Bollard R-7744
4 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 |bs
5 2 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
6 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
7 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 6 OF 9
4 I 3 2 I 1




Bollard R-7744

44 1/2

43

Max. Bar Height

5) Secure bollard cap
with 3/8" set screws
and cover set screws
with plastic plugs.

4) Secure bollard base

with 1" washer and
1" nut.

Notes:
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others.
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements.

3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension

b SR

0
s A'....
[ AN .
S . R
v LT e
> : £
Lo Ny e
o . i A
» > : C Rt ~"’ 
AU N R R
b ' . s
SO o P
.A~ N Ba” e
[V e 4 : - s b
: oo o
> I\Fs SR
A\ :
s p »A,'. v SRR
> . ‘;.A ;,".A. .I>'.
NS - R
ARG B R
> N .b 4 '~ RN - b 1
L . - ’A’.D. ,A. .
> . . B L .
3 5 l: . > [.}A
. . N vy N
S » TSR AN
YN o - ) - . . .
N o PR Max. interior post
. N
VR N 10 3/4" x 40"
R . ) . 8 b . .
N N A ( dia. x height)
TR S H O . .
PR ) Filled with concrete
~.{,,“.,A.> oA b.p
LA s R
R O L
Y s [y '. > ».
3 o - L
B! > - b,,..A AI{. D.
PN B BRI
- vy b e
- b a . o Y
S S [, r
S N AR
A - p
L e New Post
Cw N LT Existing Concrete
.[>~. . R..; .A : .,.: b :D:
SR Ce @12 5/8
b D> ov LS
A 1 ] . Grade
’ 2 oo " A
.sl? . Aoyl > f%,. IR v, B » "D.A..'.".?t:".‘v "y
> ® R A . . b5 . s T e
. B . o A K v > > > > Db N N b " ;f
s N N S 5 -K> N e .
s L 4 - b .
s > [ b > b >

e e b ey '-V,"\
R R R U
L U B
Lo ST :\
N PPV .
e T T
EU "»f\

RCLLLLL

is critical to your particular installation.

LS A ,ﬁ>, .'.'b"kk ~.".'b[>'4
N .

' :;":. 'y | - :;f' '.l?.. N N

A el o
7 \\/K LA LA

\\ RIS, R
\\;// R,
A

/\\/

Yz

TS EEN
SANANANANS

4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement.

1) Use 1 piece of 1" nut on bar
as anchor in wet concrete.
2) Ensure the bar is centered
and extend no more than
43" above grade.

3) Wait until concrete is cured.

Tools needed:

1) Measuring tape
2) 1 1/2" wrench
3) 3/16" hex key

General Description:

The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
diameter) for better impact protection. Bollard surfaces are
protected by a durable powder coating, available in 6
standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:

Height: 44 1/2"
Base Diameter: 12 5/8"
Weight: 158 Ibs ( Bollard Only )
Material: Steel Body with Ductile Iron Cap
Max. Interior Security Post Size:
10 3/4" x 40" (Diameter x Height)

Finish Options:
©® Polyester Powdercoated

See Reliance Foundry's standard color options at:
www.reliance-foundry.com/bollard/colors-bollards

Installation Options:

O Fixed - Anchor Casting in New Concrete
(see sheet 2 of 9)
O Fixed - Concrete Insert Anchor in Existing Concrete
(see sheet 3 of 9)
O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
© Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
O Ppost Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

RELIANCE FOUNDRY

SINCE 1925

Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada

PARTS LIST 1-877-789-3245 info@reliance-foundry.com
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT www.reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 Ibs TITLE
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs
3 1 |R7500BAR 1" R7500 Threaded Bar 1" x 44" Steel Plated 8 1/8 Ibs Bollard R-7744
4 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 |bs
5 2 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
6 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
7 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PRXERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 7 OF 9
4 I 3 2 I 1




4 | 3 2 | 1
BOl |a I‘C| R'7744 General Description:
® The R-7744 Decorative Bollard offers a clean, simple design
suitable for any location. Made from resilient carbon steel, its
wide body suits larger pipe reinforcement (up to 10-3/4"
8) Se_cure b"()IIard cap diameter) for better impact protection. Bollard surfaces are
with 3/8" set screws protected by a durable powder coating, available in 6
ar_1d cover set screws standard colors, to prevent wear and corrosion. Use as fixed,
2 . with plastic plugs. stand-alone bollards or cover impact-resistant security posts.
Specifications:
() @ Height: 44 1/2"
‘ Base Diameter: 12 5/8"
f ac o s NF s Weight: 158 Ibs ( Bollard Only )
4 ST N - Material: Steel Body with Ductile Iron Cap
l N SN e 7) Se_!tcr:J rlt?' bollar:d base Max. Interior Security Post Size:
RSN N S with 1 © washer 10 3/4" x 40" (Diameter x Height)
N AN ER AR and 1" nut.
p11/8 N Finish Options:
| AAA AA . i © Polyester Powdercoated
S e AA ;;.é'* p by See Reliance Foundry's standard color options at:
T IR www.reliance-foundry.com/bollard/colors-bollards
- A o “ . 1) Use hammer drill to make hole . .
Lo 11/8" dia. x 4" depth. Installation Options:
T 1 2) Clean drill hole of debris. O Fixed - Anchor Casting in New Concrete
441/2 e 3) Caulk adhesive into hole from (see sheet 2 of 9)
e Liat e bottom up and fill 1/4 full. O Fixed - Concrete Insert Anchor in Existing Concrete
43 R Y 4) Push threaded bar into adhesive (see sheet 3 of 9)
ah e LT and turn to ensure bonding. O Fixed - Adhesive Anchor in Existing Concrete
Max. Bar Height e g et Max. interior post 5) Ensure bar is perpendicular and _ (see sheet 4 of 9)
RO 10 3/4" x 40" extend no more than 43" above O Fixed - Anchor Casting with Concrete Form
T e T ( dia. x height) grade. O Post C (Se-el\iheeltj5 ’?f 9I)\l Concret
R PO Filled with concrete 6) Wait at least 45 minutes for 0t Lover - INeW Fos™ In Flew oncrete
T e e dhesi (see sheet 6 of 9)
PRI SRR adhesive to set. O Post Cover - New Post in Existing Concrete
G (see sheet 7 of 9)
S s e © Post Cover - Existing Post with Adhesive Anchor
T L - (see sheet 8 of 9)
R O Post Cover - Existing Post with Concrete Anchor
e m B = (see sheet 9 of 9)
. E > I ,.;;A. A For more information on bollard post installation, please visit:
L AA PR www.reliance-foundry.com/bollard/installation-bollards
RS Care and Maintenance:
PO SR Existing Concrete o cate [ i - i
A . oe B?12 5/8 Reliance's line of bollards are finished with a long-lasting
Ee S TE B Grade powder-coating. Proper care and maintenance are required.
IR a2 Regularly-performed inspections and routine cleaning will
N B B O R T ensure that a bollard retains its aesthetic appeal and does not
//\ o ’ . d . . m égf'\ // /// /// N ) . .?\// become damaged by the elements.
S N NN A e o N  damaged b the clemerts.
/\. i P s \/\/\ /\ B R LY e » ¥ / See Reliance Foundry's maintenance guide at:
//\"..f q ’ ! ’ o // // // WA AN A Akl - // www.reliance-foundry.com/bollard/maintenance-bollards
\/\\ i » » A', . D A» f\\ \k\ \X\ \\ \\XA " ,',: L " ‘p ‘ P ‘ b L\\ AN
//\ ,A D‘, A » [: f A D '» A/\///\///\ <// Abb v‘ 'A » ;V A b A A ‘: A/\///
\Q\" NS CIER \v\ .;;..\ \\ \\ \ i\ e "jyﬁ\f’y »f,:.\."-;“ \\ AN
UG
N AN AN AN
//\,//\ AN N /X//\/ ///>//\///\ /’\ ANNTN 2 Tools needed:
Notes: N A 1) Measuring tape
1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 2) 1 1/2" wrench
2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 3) 3/16" hex key
3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 4) Hammer drill
is critical to your particular installation. 5) 1 1/8" Masonry drill bit
4) Reliance Foundry reserves the right to amend design and specifications without prior notice for product improvement. 6) Caulking gun and utility knife R E LIANC E FOUNDRY
——————SINCE 1925 —4M8M
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 Ibs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 Adhesive Anchor AC100+ Gold Adhesive Anchoring System Vinylester Adhesive Mortar 5/8 Ibs
4 1 [R7500BAR 1" R7500 Threaded Bar 1" Custom Order Length Steel Plated TBD Bollard R-7744
5 1 Washer 1" OD 2" Washer 1" OD 2" Thick 1/8" Steel Plated 1/8 Ibs
6 1 Hex Nut 1" Hex Nut 1" - requires 1 1/2" wrench Steel Plated 1/4 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 8 OF 9
4 I 3 4& 2 I 1




BOl |a I'CI R' 7744 ' General Description:

7) Secure bollard cap The R-7744 Decorative Bollard offers a clean, simple design
with 3/8" set screws suitable for any location. Made from resilient carbon steel, its
and cover set screws wide body suits larger pipe reinforcement (up to 10-3/4"
with plastic plugs. diameter) for better impact protection. Bollard surfaces are
a protected by a durable powder coating, available in 6

standard colors, to prevent wear and corrosion. Use as fixed,
stand-alone bollards or cover impact-resistant security posts.

Specifications:
() Height: 44 1/2"
Base Diameter: 12 5/8"
| 6) Secure bollard base Weight: 158 Ibs ( Bollard Only )
31/8 with 3/4" washer Material: Steel Body with Ductile Iron Cap
1 and 3/4" nut. Max. Interior Security Post Size:
@1 10 3/4" x 40" (Diameter x Height)
Finish Options:
1) llJHS%_hamg‘elr/g"rig totﬂ‘lake hole ® Polyester Powdercoated
ia. X epth.
2 Clean il e o et DA A
3) Insert drop-in anchor into hole. ' '
4) Use hammer and setting tool - -
)to e plugr o9 Installation Options:
e 5) Tighten threaded bar until it O Fixed - Anchor Casting in New Concrete
44 1/2 reached approx. 1" into (see sheet 2 of 9)
the drop-in anchor. O Fixed - Concrete Insert Anchor in Existing Concrete
43 (see sheet 3 of 9)

O Fixed - Adhesive Anchor in Existing Concrete
(see sheet 4 of 9)
O Fixed - Anchor Casting with Concrete Form
(see sheet 5 of 9)
O Post Cover - New Post in New Concrete
(see sheet 6 of 9)
O Post Cover - New Post in Existing Concrete
(see sheet 7 of 9)
O Post Cover - Existing Post with Adhesive Anchor
(see sheet 8 of 9)
®© Ppost Cover - Existing Post with Concrete Anchor
(see sheet 9 of 9)

For more information on bollard post installation, please visit:
www.reliance-foundry.com/bollard/installation-bollards

Max. Bar Height Max. interior post

10 3/4" x 40"
( dia. x height)
Filled with concrete

Care and Maintenance:

Reliance's line of bollards are finished with a long-lasting
powder-coating. Proper care and maintenance are required.
Regularly-performed inspections and routine cleaning will
ensure that a bollard retains its aesthetic appeal and does not
become damaged by the elements.

Existing Concrete
Grade

See Reliance Foundry's maintenance guide at:
www.reliance-foundry.com/bollard/maintenance-bollards

VRN N R R R RN R R RS R N
R AR

14

Tools needed:

Notes: 7 - 1) Measuring tape

1) Bollard post is provided as shown. Concrete, foundation and/or installation ordered separately or provided by others. 2) 1 1/8" wrench

2) Minimum foundation sizes depend on local soil conditions, weather conditions, and engineering requirements. 3) 3/16" hex key

3) Dimensions provided herein is for reference only. Please consult Reliance Foundry sales professionals if any dimension 4) Hammer drill

is critical to your particular installation. 5) 1" Masonry drill bit
4) Reliance Fouyndrypreserves the right to amend design and specifications without prior notice for product improvement. 6; Hammer Y R E LIANC E FOUNDRY
7) Drop-in concrete insert setting tool —  SINCE 1925 ——
PARTS LIST Unit 207, 6450 - 148 Street, Surrey, BC V3S 7G7, Canada
ITEM QTY PART NUMBER DESCRIPTION MATERIAL WEIGHT 1-877-789-3245 info@reliance-foundry.com
1 1 R7744B R7744 Base Steel Powder Coated 146 |bs www.reliance-foundry.com
2 1 R7744C R7744 Cap Ductile Iron Powder Coated 12 Ibs TITLE
3 1 Drop-in Concrete Insert 3/4" Drop-in Concrete Insert 3/4" - requires 1" x 3 1/8" hole (dia. x depth) Steel Plated 1/2 Ibs
4 1 R7500BAR 3/4" R7500 Threaded Bar 3/4" Custom Order Length Steel Plated TBD BOI Ia rd R-7744
5 1 Washer 3/4" OD 2" Washer 3/4" OD 2" Thick 1/8" Steel Plated 1/8 Ibs
6 1 Hex Nut 3/4" Hex Nut 3/4" - requires 1 1/8" wrench Steel Plated 1/8 |bs
7 3 Hexagon Socket Set Screw 3/8" x 7/16" Hexagon Socket Set Screw 3/8" x 7/16" - requires 3/16" hex key Stainless Steel SIZE DWG NO REV
8 3 Polyethylene Plug 3/8" Polyethylene Plug 3/8" LDPE Black C R7744 C4
COPYRIGHT RESERVED  THIS PLAN DRAWING AND DESIGN ARE, AND AT ALL TIMES REMAIN, THE EXCLUSIVE PROPERTY OF RELIANCE FOUNDRY CO. LTD. NOT TO SCALE SHEET 9 OF 9

4 I 3 4& 2 | 1




